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2. Ram & Co. purchased machinery for ¥ 21,000 on 1st April, 2019. The estimated useful life

of the machinery is 10 years, after which its realisable value will be ¥ 1,000. Determine
the amount of annual depreciation according to the Straight Line Method and prepare
Machinery A ccount for the first three years. The books of account are closed on 31st March

every year. [Balance of Machinery Alc on Ist April, 2022—X 15,000.)
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3. Calculate the Amount of annual Depreciation and Rate of Depreciation under Straight
Line Method (SLM) from the following:

Purchased a second-hand machine for ¥ 96,000, spent ¥ 24,000 on its cartage, repairs and
installation, estimated useful life of machine 4 years. Estimated residual value T 72.000.

[Annual Depreciation—3 12,000; Rate of Depreciation—10%.]
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4. On 1st April, 2019, X Ltd. purchased a machine costing ¥ 4,00,000 and spent T 50,000 on its
installation. The estimated life of the machinery is 10 years, after which its residual value
will be ¥ 50,000. Find the amount of annual depreciation according to the Fixed Instalment

Method and prepare Machinery Account for the first three years. The books are closed on
31st March every year.

[Annual Depreciation—=X 40,000; Balance of Machinery A/c on 1st April, 2022—=X 3,30,000.)
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’ An asset was purchased for ¥ 10,500 on 1st April, 2014. The scrap value was estimated
~ to be T 500 at the end of asset’s 10 years’ life. Straight Line Methodof deprecmtmn was

nead The acconntine vear ends on 31st March everv vear. The asset w
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11. Acompany whose accounting year is a financial year, purchased on 1stJuly, 2019 machinery
*"\ costing T 30,000. .

It purchased further machinery on 1st January, 2020 costing ¥ 20, 000 jand on 1st October,

2020 costing T 10,000.
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On 1st Apnl 202 IJEne third of the machmerﬂmstalled on 1st July, 20 19 became obsolete

and was(sold for ¥ 3,000.

=)

Show how Machinery Account would appear in the books of the company. It being given
that machinery was depreciated by Fixed Instalment Method at{(10% p.a) What would be

the value of Machinery Account on 1st April, 20227
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14. Following balances appear in the books of Hari Bros.:M ¥ 0 <
1st April, 2020 — Machinery Ale e e LoeT - 80,000
(Baance B/4) > Provision for Depreciation Alc 36,000

On 1st April, 2020, they decided to sell a machine(for T 8,700) This machine was purchased
for T 16,000 in April, 2016. Prepare the Provision for Depreciation Account and Machinery

Accgt_m@Slst March, 2021, assuming the firm has been charging Depreciation at 10% p.a.
on Straight Line Method.

P
[Loss on Sale of ﬂ‘/}'achinery—? ' 900; Balance of Provisic\)},for
Depreciation Alc—3 36,000; Balance of Machinery Alc—X 64,000
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y./Babu purchased on 1st April, 2020, a machine for ¥ 6,000. On 1st October, 2020, he
also purchased another machine for ¥ 5,000. On 1st October, 2021, he sold the machine
purchased on 1st April, 2020 for ¥ 4,000.

—

It was decided that Depreciation @ 10% p.a. was to be written off every year under
Diminishing Balance Method.

Assuming the accounts were closed on 31st March every year, show the Machinery Account
for the years ended 31st March, 2021 and 2022.

[Balance on 31st March, 2022—=X 4,275; Loss on Sale of Machine—=X 1,130.]

5HDDXLQx£/'/ Yooo
< od \Z

s

w : 3%Fo _

b #Mad/u'm C (e

Dake | @t wdows \ = Dj‘gT Lot wdonn, ET

14 Qo | To BanK ¢ (M) | Looo |313.3a1] 8 UahionAe| 8506
(g‘. Eﬂi?kgoo

B — ...V A US| T oaan




[ 4-20d0 | To BanK A¢ (M)

Looo |3133a1] B &a?\mahw,qc &850
2 & oo
To22 o Bank M (M)

5 000 L
Mg i 50

313 30 ? Bodance dd |lo, (50

M, © BYoo
Ms 4 4350

- ”. dDdd
I-Y4-203 (| To Ba&m«tt Wbl 16 150 |1-0c 203 B\d D e b(aj\'m_A{c 3o
M, 5400 : I ogt 282)| by’ Ban'k Mclsv)|H 000

' Ll-j(‘BD:ZI Lok Ae)f B (L :ic Cless) |\, 130

Mo 33200 BY deppauationAc () M3

B3y By Balance d |4 %5

= o, 15¢ | ) .o |

Sol'- CosT od Wi e 35 0od
(- DLF'Ktquiiovl CE% yeas ) (3:5°°>
WDV affer | * Jeax 31, Koo

(=) th}&u‘o«k\'w Ll“’*‘éwr) &3 ‘Sf’)
WDV affer &% yax o

= Ot?\uiw,hw (2" amﬂ (3\,355>

W ov A(Jrfw P d@n’ A TS

Sold %20 000

S GATN 4 4gs



4 485

207 A company purchased a machine for ¥ 50,000 on 1st October, 2019. Another machine costing
% 10,000 was purchased on 1st December, 2020. On 31st March, 2022, the machine purchased in
2019 was sold at a loss of T 5,000. The company charges depreciation @ 15% p.a. on Diminishing
Balance Method. Accounts are closed on 31st March every year. Prepare the Machinery Account

for 3 years.

[Balance of Machinery Alc (31st March, 2022) (Mach. II)—X 8,075.]

[Hint: Sale Price Realised = % 28,415; Book Value of Machinery (31st March, 2022) =X 33,415.]
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2. A company purchased on 1st July, 2018 machinery costing T 30,000. It further purchased
machinery on 1st January, 2019 costing ¥ 20,000 and on 1st October, 2019 costing ¥ 10,000.
On 1st April, 2020, one-third of the machinery installed on 1st July, 2018 became obsolete
and was sold for X 3,000. The company follows financial year as accounting year.

Show how the Machinery Account would appear in the books of company if depreciation is
charged @ 10% p.a. on Written Down Value Method.

o
[Balance of Machinery Ale—=X 39,330 (Mach. I: X 14,985; Mach. II: X 15,795;
Mach. I1I: X 8,550),; Loss on Sale of Machine (Mach. I) (1/3):X .?_,.5’_25.]
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